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8[60 #EH k= |5 [A[HdLSSE 313 |3.0 650 [30.02 670 | 1320
9190 |Hh BB |5  AFI37ER 356 [1.0 770 [22.29 513 1283
10{169 |lUd %X [5 [SMTC JrBE 345 0.7 739 [23.80 543 | 1282
11]2 BiL A 6 |[KYBERER 342 (05 731 [24.07 549 [ 1280
12[144 EN #W® 6 TFXFER 3.15 3.6 655 |24.62 560 | 1215
13[56 |BHE #AEE |5 [j[dtSSEHE 309 0.0 638 [23.70 541 1179
14[187 |=B =7 |5 |IcbHAACEBR 313 0.8 650 [23.10 529 | 1179
15|57 A XE |5 [dESSEm 3.12 0.9 647 [21.56 498 [ 1145
16[130 [#ATF ®l [5 |XpEtrBHR 274 1.7 540 [23.77 543 | 1083
17]61 A &8 (5 [AdLSSEE 306 [0.2 630 [17.66 419 | 1049
18[116 (#2814 6 |5 | FE/NEE 287 |03 577 119.06 447 | 1024
19]26 WARUEXRE] 5 | fZTCER SERAL 50 [24.43 556 606




